ForeveR | REDWOOD

Cim
=/ { 7}

P 190rin i

866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

<y

ASSEMBLY INSTRUCTIONS FOR THE
KIKUE'S TEA HOUSE




"JU3s s340d Y1 UO PAYIDW SIdGUINU 3Y] 03 YIIDW 10U Op 353y ‘A|UO 32Ua13faJ J0f 240 3[GD] SIXOg JO JUSIUO) Yy} Ul SIdGUINU 1UDJ 330N

)

awelH Jooy

17

slayyey |euobeiq

0T

suoddng sj6uls

Buixoo|g usamiag-uj
yum suoddns

"S|IeJ [e19W YUM sawelH [[eAn

sawelH [ [elare]

SOA00JD) YNIM SaWRlH [[eAA

"Pa343p40 J|
spseog Y98

Asen i
Anuend

1

"paJtapJo §|
suoddng 1s04

"palapJo §|
suoddng »28@ Huo

"PaJapJo 4|
suoddng 98Q 1oys

Asen jim
Amnuend

s150d

14

‘ON

Buimeaqg

uondiiosag

ySTle)

S3X04d 40 LNJLNOD

Pl 1

KIKUE’'S TEA HOUSE
www. ForeverRedwood.com



"JU3s s340d 3Yy3 UO PayIDW SIdGUINU 3Y] 03 YI3DW 10U Op 3SaYy | “Ajuo 32Ua4afa. Jof 24p 3[GD] SIXOg JO JUIIUO) Y} Ul SIdGUINU 1D (930N

1¢ T sanbe|d [e18IN ¥
saseq Joyouy- saseg Joyouy
0¢ saseq Joyouy-] ¥
— .-_ 10 saseg Joyouy

) I . NH
"PaJapJo 4|

8T - sjood 4

LT T SWLL JoueIX3 4

9T T w1 Jousu] 4

ST e——— swi | Jooy ¥
"pa49pJ0 J| AJen [

vT U SpIROg J00Y Anuend

| k - |

"ON Buimeag uondiiosag ‘A0

S3X04d 40 LNJLNOD

P| 2

KIKUE'S TEA HOUSE
www. ForeverRedwood.com



"azIs uo buipuadap Aipa |Im a1pmpapy JnoA o suoisuawiq :210N

‘(sjaued Joou ay) 0] swil 4004 ay) yoene o
/ 'suioddns ay 01 sjaued Jool ay) yoene o /

‘Buoo|g usamiag-ul yum suoddns ayi 01 pue

s1sod ayp 01 suoddns aj6uls ayl yoene o)
syog Be1..9 X ..8/€

"(1ay1abo1 sawrel) [jem ayl yoene o)
SMaI2S X209 ¥

‘(s1ioddns »29p ay) 01 spJeoq aap syl pue
suoddns sisod ayp yoene o] / ‘suoddns osp
Buoj ayy 01 soddns Xosp 10Ys 8yl yoene o)

SMBI3S ¥29Q | €

| I
o

"(398p 81 01 pue
s1s0d ay] 01 saseq J0ydu/- 8yl yoene o)
sljog Be1 .y X ,.97/5

"(suoddns sy 01 sanbejd e1sw sy yoene
01 / 's1sod ay] 031 Salely |Jem ay) yoene
0] / 'sisod ay} 03 saseq Joyaue syl yoene o)
s)og Be e X ,.9T/5

"(punoJB ay1 01 saseq Joyoue ayl ydene o)
sjog Joyauy v X %

‘ON

Buimeaqg

uondiiosag

1S1T1 3dvVMAdVvH

P|3

KIKUE’'S TEA HOUSE
www.ForeverRedwood.com



*az|s uo bulpuadap Aipa [jim a1ompipy JnoA Jo suoisuawiqg :330N

‘(sjaued Joou ay) 0] swiLl Jood 8yl ydene o)
syog Be1 .8 X ..8/€

"(sjaued Joou ay1 01 SpJeoq JOoJ 8yl yoene o)
SMaldS X29a | .8/S T

"(awredy Jood ayy 01 Sjaued J00d 8Y) yoene o)
sljod .1 € X ,.9T/S

"(sanbeyd
|e18W 3y} 0] siayel [euobelp ayy yoene o)
siog ,.€ X .,.9T/9

"(1ayrabo1 suoddns ayy yoene o)
siogd ... X ..8/€

‘(s1s0d ayy 01
$100Q 8y} Yoeye 0] / ‘Salely [|em ay} 01 St}
J01I31X3 8y} pue SWiLJ] JoLaIUI 8yl Yydoene o
"3Wiel) JOol 3y} 0} siaijed [euobelp ay) yoene
0] / "layiebol spoddns ajbuis ayy yoene o])
SMaIIS %99Q | % ¢

‘ON

Buimeaqg

uondiiosag

1S1T1 3dvVMAdVvH

Pl 4

KIKUE’'S TEA HOUSE
www.ForeverRedwood.com



"JU3s s3apd 3y3 UO PAILbW SIdGUINU Y] 03 Y210W J0U Op 3S3aY [ “AJU0 a2U313fa. 40 310 DUIMDIF dY] Ul SIaqUINU 1uDd :910N

P| 5

8T sanbe|d [e}8N
A saseg Joyouy
9T sjood
ST s|aued [[e M\ SMOPUIM
a SWI] J01I3IXT
€1 SWwid] Joua|
21 auleld J0oOy puoIas
1T spJeog Jooy
0T swiL Jooy
6 S|aued Jooy
8 auweld Jooy
] siayey [euobelg
9 suoddns ajbuis
Bunoo|g usamiag-uj
s yum spoddns
v 'S|IeJ [e18W UM SaWel [[eA
€ salelH [[eAN [edare]
2z SAA0019) YNIM SawelH [[epA
1 s1sod
‘ON NOILdId0S3d

KIKUE’'S TEA HOUSE
www.ForeverRedwood.com



Option A. Without Deck

Step 1: Install the anchor bases (20) with 2" x 4" anchor bolts (A). Please see the “How to anchor your pergola document™ for
all details. Set your post (1) in the saddle of the anchor bases. Drill a g %4"" hole prior to anchoring in each post to facilitate the
ratcheting of the hardware. After that, use a 5/16"" x 3”" lag bolts (B) to attach each post to the anchor bases.

5/16" X 3 Lag Bolts

Note: Go to step 6.

Option B. With Deck

Step 2: Attach the short deck supports (2) to the long deck supports (3) with 3’ deck screws (D). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

3" Deck Screws

P| 6

KIKUE’'S TEA HOUSE
www. ForeverRedwood.com



Step 3: Attach the posts supports (4) to the deck supports with 3”* deck screws (D). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

3" Deck Screws

Step 4: Attach the deck boards (5) to the deck supports with 3°” deck screws (D). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

3" Deck Screws

P|7

KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Step 5: Install the L-Anchor bases (20) with 2™ x 4°" anchor bolts (A). Please see the “How to anchor your pergola document”
for all details. Set your post (1) in the saddle of the L-Anchor bases. Drill a g ¥4"" hole prior to anchoring in each post to facilitate
the ratcheting of the hardware. After that, use a 5/16"" x 4”" lag bolts (C) to attach each post to the L-Anchor Bases and the deck
supports.

5/16>* X 4*’ Lag Bolts

Step 6: Use 4" Deck Screws (E) to attach the wall frame with grooves (6) and the wall frames with metal rails (8) to the lateral
wall frames (7). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

f————— - ——

4" Deck Screws

4" Deck Screws

P| 8
KIKUE’'S TEA HOUSE
www. ForeverRedwood.com



Step 7: Use 5/16”" x 3" lag bolts (B) to attach the wall frames to the posts. Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16" X 3”" Lag Bolts

Step 8: Place the supports with in-between blocking (9), into the post notches as shown. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

P|9
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Step 9: Use 3/8” x 6”” lag bolts (F) to attach the single supports (10) to the posts and to the supports with in between blocking.
After that, attach the supports together with 2 %2"" deck screws (G). Each part has a series of numbers that indicate where to attach
the part with the corresponding number.

e | 3/87 X6 Lag Bolts

—_—  —————

2 %" Deck Screws

—

Step 10: Attach the single supports to the supports with in-between blocking, use 3/8"" x 7°” Bolts (H). Each part has a series of

. |

numbers that indicate where to attach the part with the corresponding number.

3/87 X 77 Bolts

P| 10
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Step 11: Use 5/16”" x 3" lag bolts (B) to attach the metal plaques (21) to the supports. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

5/16"" x 3" Lag Bolts

Step 12: Attach the diagonal rafters (11) to the metal plaques with 5/16” x 3" bolts (I) and to the roof frame (12) with
2 %" deck screws (G). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16”" X 3" Bolts

2 %" Deck Screws

P| 11
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Step 13: Use 3/8”" x 6" lag bolts (F) to attach the roof panels (13) to the supports. After that, attach to the roof frame with
5/16"" x 3% bolts (J). Finally, put Exterior Clear Silicone on the perimeter of the roof frame and on the roof panels joints. Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

3/8”" X 6" Lag Bolts

Step 14: First, measure the roof panels. After that, cut the #30 Felt Roof Deck Protection to those measures. Use staples to attach
the #30 Felt Roof Deck Protection to the roof panels.

#30 Felt Roof
Deck Protection

P| 12
KIKUE'S TEA HOUSE
www. ForeverRedwood.com




Option C. With Roof Boards

Step 15: Use 1 5/8”" deck screws (K) to attach the roof boards (14) to the roof panels. Put the boards from the bottom to the top,
the overlapping between these boards it will be of %", Each part has a series of numbers that indicate where to attach the part

with the corresponding number.

Note: Go to step 20.

Option D: With Steel Roof Panels

Step 16: Measures the roof panels, start at the corner. After that, cut the galvanized steel roof panels to the above measurements,
leaving an extra inch along of the galvanized steel roof panel.

Galvanized Steel Roof Panel

Width T

P| 13

KIKUE’'S TEA HOUSE
www. ForeverRedwood.com



Step 17: Use #10 X %~ Wood Screw, hex head with Neoprene Washer to attach the steel roof panels to the roof panels. The
overlapping between these steel roof panels it will be approximately of 2",

An extra inch.

Overlapping,
approximately
of 2.

#10 X 3" Wood Screw

Step 18: Use #10 X %"~ Wood Screw, hex head with Neoprene Washer to attach the Drip Edge Flashing Cap to the roof frame.
After that, put exterior clear silicone on the top of the Drip Edge Flashing Cap.

#10 X 3" Wood Screw

PAINTED SIDE
215+-1/8

Drip Edge Flashing Cap ~_3/8

KIKUE’'S TEA HOUSE
www. ForeverRedwood.com



Step 19: Use #10 X %"~ Wood Screw, hex head with Neoprene Washer to attach the Ridge Cap to the roof panels.

#10 X 3%~ Wood Screw

Step 20: Attach the roof trims (16) to the roof panels with 3/8"" x 8”" lag bolts (L) and 3/8”" x 6”" lag bolts (F), as shown below.
Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8”” X 6 Lag Bolts

3/8"" X 8" Lag Bolts

P| 15
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Step 21: Use 2 %" deck screws (G) to attach the interior trims (16) to the wall frames. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

2 %" Deck Screws

Step 22: Use 2 ¥%"" deck screws (G) to attach the exterior trims (17) to the wall frames. Each part has a series of numbers that
indicate where to attach the part with the corresponding number

—
17

2 1" Deck Screws

P| 16
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Note: If your Kikue’s Tea House don’t include boots, go to step 24.

Step 23: Attach the boots (18) to each posts with 2 %2 deck screws (G). Each part has a series of numbers that indicate where to
attach the part with the corresponding number

2 %" Deck Screws

Step 24: Finally, place the window wall panels (19) in their place. Each part has a series of numbers that indicate where to attach
the part with the corresponding number.

P| 17
KIKUE'S TEA HOUSE
www. ForeverRedwood.com



Kikue’s Tea House with Roof Boards

Kikue’s Tea House with Steel Roof Panels

KIKUE’'S TEA HOUSE
www. ForeverRedwood.com

P| 18



This completes the Kikue's Tea House assembly. Hope you enjoy your set for many decades. If you ever have a problem or a
question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 19
KIKUE’'S TEA HOUSE
www.ForeverRedwood.com



